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QUESTION 1

One module needs to call another within the same environment. 

Which of the following is the BEST transport type for the export binding in terms of performance? 

A. Web service 

B. Extensible Markup Language (XML) 

C. Hypertext Transfer Protocol (HTTP) 

D. Service Component Architecture (SCA) 

Correct Answer: A 

 

QUESTION 2

An integration developer is designing a new mediation to process a banking transaction. The banking transaction is
provided as an input for this interface. The interface must also include a fault to indicate a system timeout failure. What
type of operation is BEST for the export interface? 

A. One Way 

B. Request Only 

C. Request Response 

D. Response Only 

Correct Answer: C 

 

QUESTION 3

An integration developer wants to persist a property value through the request and response flows. Which of the
following context types should the developer choose and where in the flow should it be defined? 

A. Correlation context defined in the Input node of the request flow. 

B. Correlation context defined in the Message Element Setter primitive of the request flow. 

C. Shared context defined in the Input node of the request flow. 

D. Shared context defined in the Message Element Setter primitive of the request flow. 

Correct Answer: A 

 

QUESTION 4
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An integration developer wants to access a database table on a DB2 database installed on an AIX system using a
JDBC Adapter. Using the configuration wizard of the JDBC Outbound Adapter import, the integration developer is
prompted for JAR files. Which kind of JAR files are required? 

A. AIX specific JAR files 

B. JDBC standard JAR files 

C. DB2 specific JAR files 

D. DB2 and AIX specific JAR files 

Correct Answer: C 

 

QUESTION 5

An integration developer wants to copy a part of the mediation flow into a subflow to make it a reusable 

artifact. 

Which of the following nodes or mediation primitives can be directly copied to the subflow? 

A. Input 

B. Callout 

C. Input Response 

D. Custom Mediation 

Correct Answer: A 

 

QUESTION 6

An integration developer has implemented and deployed an integration solution composed of two mediation modules
(ModuleA and ModuleB) and one Library. - ModuleA invokes ModuleB via a SCA binding - ModuleA is not versioned -
ModuleB and the Library are versioned If the integration developer wants to make a change to the Library and upgrade
its version, which are the minimum steps to be performed with the Dependencies editors before rebuilding and
redeploying the modules? 

A. Change the version of the Library in its Dependency editor. 

B. Change the version of the Library using the refactoring feature. 

C. Change the version of both the Library and ModuleB using the refactoring feature. 

D. Change the version of both the Library and ModuleB using the refactoring feature, and change the referenced
version of ModuleB in the SCA Import binding properties window of ModuleA. 

Correct Answer: C 
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QUESTION 7

Module A and Module B share the same resources deployed as a shared library on the server. Module A has to be
updated resulting in changes to some of the shared resources. Which one of the following statements is correct with
respect to the dependency of the two modules on the shared resources? 

A. The shared library remains unaffected by the update to Module A. 

B. Module B needs to be rebuilt, tested and updated. 

C. Module B will update itself automatically as Module A is updated. 

D. Module B will throw an error saying the shared library is out of date. 

Correct Answer: B 

 

QUESTION 8

An integration developer wants to combine results from different services in a mediation flow. The developer plans to
use a Fan-out/Fan-in combination to address this requirement. Which of the following statements is correct with respect
to the Fan-out/Fan-in combination? 

A. The shared context is used to store responses from various services temporarily before a Fan-in is fired. 

B. The message aggregation context is used to store responses from various services temporarily before a Fan-in is
fired. 

C. The Fan-out/Fan-in primitives must only be used when responses from multiple services need to be aggregated. 

D. The developer can\\'t control the stoppage of the Fan-out/Fan-in operation and the same will stop only once all the
services invoked through Fan-out have responded. 

Correct Answer: A 

 

QUESTION 9

An integration developer is creating rules for the emulators in the Component Test Explorer. Which of the following
statements are applicable for the condition statement? 

A. First statement must evaluate to a boolean value. 

B. First statement must evaluate to a Boolean string. 

C. Last statement must evaluate to a boolean value. 

D. Condition section can contain many statements. 

E. Only the final statement will be evaluated as the condition. 

Correct Answer: DE 
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QUESTION 10

An integration developer wants to make some of the properties of the mediation primitives configurable at runtime.
Which of the following properties can be promoted to be visible to be visible within the Administrative Console
(Integrated Solutions Console)? 

A. \\'Root\\' of Event Emitter 

B. \\'Handler\\' of Message Logger 

C. \\'Table name\\' of Database Lookup 

D. \\'Binding Type\\' of Endpoint Lookup 

E. \\'Invocation Style\\' of Service Invoke 

Correct Answer: CD 

 

QUESTION 11

A integration developer is implementing a mediation flow component. The integration developer decides to implement
part of the flow by using a custom mediation primitive and writing a Java snippet. While writing the Java snippet code,
the integration developer makes use of the Java StringTokenizer class. On building the flow, the integration developer
sees the following error message in the WebSphere Integration Developer Problems Tab. "StringTokenizer cannot be
resolved to a type" How should the integration developer proceed in order to resolve this issue? 

A. Import the java.util.jar file into the module and rebuild. 

B. Insert "import java.util.StringTokenizer" into the Details tab. 

C. Insert "import java.util.StringTokenizer" into the Java Imports tab. 

D. Insert "import java.util.StringTokenizer" at the top of the Java snippet code. 

Correct Answer: C 

 

QUESTION 12

An integration developer has developed a new mediation flow and wants to test it on a new embedded server profile.
How should the integration developer proceed in order to perform this testing as efficiently as possible? 

A. Build the EAR file in WebSphere Integration Developer, then deploy it via serviceDeploy on the server. 

B. Build the EAR file in WebSphere Integration Developer, then deploy it via the server\\'s administrative console. 

C. In WebSphere Integration Developer, in the Servers tab, add a new server and enter the connection details of the
server. 

D. In WebSphere Integration Developer, import the server via File>Import>Server and enter the connection details of
the server. 

Correct Answer: C 
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QUESTION 13

An integration developer wants to test a component by using a component test project. While specifying values for the
input parameters the integration developer needs to invoke a function defined in a utility.jar. 

Which of the following required actions should be performed? 

A. Copy the function java cods into the value field of type java expression. 

B. Add the utility.jar as a dependency using the dependency editor of the component test project 

C. Add the utility jar as a dependency using the dependency editor of the module containing the component to be
tested. 

D. Add the utility.jar to a library included in the dependency editor of the module containing the component to be tested. 

Correct Answer: C 

 

QUESTION 14

Interface requirements for a new integration system specify that interfaces must be compliant with Web Services
Interoperability (WS-I) standards. Furthermore, some of the interfaces have overloaded operations. Which of the
following binding styles is appropriate? 

A. Document literal non-wrapped 

B. Document literal wrapped 

C. Document non-literal 

D. Remote Procedure Call (RPC) 

Correct Answer: A 

 

QUESTION 15

Which one of the following IBM products works with WebSphere Enterprise Service Bus allowing applications access to
endpoint and policy information? 

A. WebSphere Process Server 

B. WebSphere Message Broker 

C. WebSphere Transformation Extender 

D. WebSphere Service Registry and Repository 

Correct Answer: D 
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